
E q u i v a l e n t s

AG 5210 AEG __ OB 2 STV 108/30 eur = OB 2
CK 5787 Ray = 5787 VR 90 int = OB 3
CK 5787-WB1) Ray = 5787-WA VR 90-30 int = OB 3
CK 60741) Ray = OB 2 VR 90 ST eur = OB 3
KD 24 Fer = OC 3 VR 105 int = OC 3
M 8132') Mul = OB 2 VR 105-30 int = s OC 3
M 82051) Mul = 90 C 1 VR 105 MT eur = OB 2
M 8207 ) Mul = 90 C 1 VR 105 ST eur = OC 2
QS 1206 EEV = OC 3 O B  2-W A1) int = OB 2
QS 1208 EEV = OB 2 OB 3/VR 90 amer - OB 3
QS 12111) EEV = OB 2 OC 3/VR 105 amer = OC 3
c  r  2 n CCCP = OB 2 105 C 5-30 CCCP = OC 3
c  r  3 c CCCP = OC 3 108 C 1 eur = OB 2
SN 948 C Mul = 90 C 2 1265 amer = OB 3
ST 105/30 Tes = OB 2 3918 amer = 874
StR 90/40 RFT = 90 C 1 60741) amer = OB 2
StR 108/40 RFT = OB 2 66271) amer = OB 2
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